Run 3030, anodes @ 1200V, 5074 events, 91940 hits, 3211 tracks

Pad efficiency TPM1

hEffPadRow_TPM1
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Run 3030, anodes @ 1200V, 5074 events, 91940 hits, 3211 tracks

Time bin efficiency TPM1 |

hEffBinRow_TPM1
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Run 3030, anodes @ 1200V, 5074 events, 91940 hits, 3211 tracks

Time bin efficiency TPM1, row 1 |
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Run 3030, anodes @ 1200V, 5074 events, 91940 hits, 3211 tracks

Max ADC for track clusters in TPM1 |
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ADC sum for track clusters in TPM1 |

hadcsum_tr TPM1
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| TPML1: Integrated cluster charge vs. drift distance
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TPM1: Squared cluster width in pad direction vs. drift distange
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Run 3030, anodes @ 1200V, 5074 events, 91940 hits, 3211 tracks
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Run 3030, anodes

@ 1200V, 5074 events, 91940 hits, 3211 tracks
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Run 3030,

anodes @ 1200V, 5074 events, 91940 hits, 3211 tracks
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